1.

% V5 9 VIO Aol 9

rr

@ V5-1 @ 2V5

o BN

2

2ol

® V10-2



the % 59 FehE Vi avh O B2, avb & E O B vt
bl 212 B TEH?

D V50 =52 @ V98 =62 ® 3V7 = V63
@ 8v2 = V256 ® 4V3= V24






D V2-3
@ -V3-1

@ 2-2
® V3-2

® V2-2



5.

(3x-2)2 = px?+qgx+4 & W, A5 p, g o st p—q 9] 242?

® -49 @ -14 ® 7 @ 14 ® 21



(=5)? + V81 x

V36—

6.

@ 7 ® 10 @ 15 ® 17

@ 3



7. VIS0-x 9 gol /MY 2 AA4Tt HEE She Aas x o e

@1 @ 2 @ 4 @ 5 ® 6



8. U2 3% FHsEH2 42?
1 ..
) > V3, V25 -2 @ 0,79, V5, V3.8
® VOInm1l @ -3.14, ? Vo1

® V0.Im Vi1



9. O3 3 & TAZ 2 A2
® 4-V2<2 @ 2-VT<V3-+7
® -V15 > -4 @ -V3-+V10<-vV10-3

® V2+1>3+1



10. THO ¥FAFo] o)} 3v5em Q1 97152 F17F 15 Va2rem?®
o, o] ¥71%F9] wolE FohH?

—

3\/3 cm

D V42cm @) gcm ©) ?cm
V52

@ +v52cm ® — - om



11. (x+A4)%2 = x> + Bx + 1 oAl A, B 9 gto g2 7=

81
T2H?
1 2
A=—-,B=~
v 91 91
A=-=,B==
ATty
A=-=, B=-=
© 9 9

a

i

[e]
As BT



12.

(x=3)(x+3) (2 +[ )=xt-8104[ |

® -3 @ 3 ® 6 @ 9



o|J

o}
olig
Nfo

ojn

<t
N
S |
[a\]
ST <
= S (2] __
+ N =
S | — | ~
N N N =
I S I 3 |
[
o (o] ~— _
a0 A =«
N N
I +  + | =
3 3
R
N



14. thg 23 o] Al A ] Aol 242 2543, v -1, 3x+1 ¢

Ag@A 0] ol

\

|
|
: 3r+1
1
L____ /
// !
/ 3r—1
/ //
2x+3~
O 18x% +36x+3 @ 36x%2+18x+3
® 42x> +18x -2 @ 42x% +24x -2

® 42x% +36x -2



15. (x+y)(x-y-2)5 A 227

h s ‘

@x2_y2_2x_2y @x2_y2_2x+2y
®X2_y2+2x+2y @x2+y2_2x_2y

® x? -y +2x-2y



@ 7 3 17 @ 22 ® 29

O 2



17.

EX

=]

215, =2, V25, =5, 33

@ 25, V23
@ 343,25

@ 25, -V2
® 3v3, V23

® 2v5,-V5




18. Vi—a, VE—bem & u VE4+2vIT+ -2 24

V54 18
o]-gsto] Y H?
1 1 3 1
® §a+6b+§ab @ 5a+4b+§ab

1
® ;a+4b+§ab

i



o|J
e
ol

ofg
Nfo
S
o
_
!
o
<r
ojn

x2-2x-35

@ (x+7)(x=5)

2+6

@ (x-2)(x-3)

@ (x+3)(x+4)=x%+x+12



Fj, vl 2] it o

Il
=

o g2 A

@ 16x24 ® 51 %49

® 5.8x%x6.2

® 27x30

@ 98 x 102



